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THREE YEAR B.Sc. DEGREE EXAMINATION, DEC. -
CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
Part - II - Physics (WM)
Paper I: Mechanics and Properties of Matter
(With Mathematics Combinations)
(New Syllabus w.e.f 2015 - 2016)

Time : 3 Hours

SECTION-A
Qerido - @
(Marks : 5x3=15)
Answer any five of the following.

1. Explain gradient and divergence.

1& (Beead b0k Fersddemsned 998055y,

[ 8]

c.xplain curl of a vector field.

K63 §8 86 D%BoDHEm.

e

j )

State conservation of linear momentum Give an example.
iy (SR g SErg amErEns® Bendiy.
4. Deline elastic and inelastic collisions with examples.
guaués 29?8&)@:{35 SISV T2 TR A0D STty
5. Expiain moment of inertia.
BUE [gridSDdrIn? D860,
6. Whatis the precession of equinoxes?
alre  HEBEHITEQ?
7. Defire central force. Give two examples.
éo@cﬁ) ORBPIL? BoH ATBRd).
8. State the postulates of special theory of relativity.

853 S 0F brrodo-SEses Benhin.
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sECHION - i
Werrsin - §)

(Marks : 5x12=6{) k

Answer all questions.

a)

)

d)

State and prove stoke's theorem.,

ijL anroRy 88k Varhodod,
OR \

"

e Seo GBMoNY Hf B0z v

H Fds = Jy

y

s dni =30 432k wand W AEPBoU0E.

OR
Stae and prove Gauss” divergence theorem

"

el wRism Lapoo-) B0 Lirbosol, A4 e
() B

Wibv o) =20y =pz! find Vi ata pomt (2,0 -1 '

5

Px.y,z) = 3\"); -zt wond (2,1,-1) Do Yo Ve Leod s

e

Prerive Ruthertird’ sentto

dqub'a’){j D Zes I\",‘Jvtw"\)_) oo hotod.

Dertve an equation {ue the rotion of a variable wass syete v
v.‘)'tSmS:bg R MU ey G A soR

L) & Q W] \ -~ :) -~
Derive Buler's cauations tor i Bady rota,. 1

I

Dotha) ey B30, w8 e st
5 L 1)

L
EREN TNV EN)

g SO e
OR

Explam Precession of a top.,

Grorito olyterdy O5ucol,

Yl e ol “placts o : '

Deline thres modute of elas ity. Drerive the relation bor - g ,

S MDeamenR e

ARG L) Segger Nowogrers oo,

()

2ei w3y azk, prove that the volwme'org Lo oL !
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a)

bh)

, ' ' ) ang 1l o
Lo double the Tength of o steel wire of cross-sechonal aren Tl
modalue 15 2 TO"N/me how much foree should be apphed
e b Beeer Tem’ ovd dbolt oeto D 1 o
Sobrzed (:.'n HeNOUSHOLS veshos?
OR

Dietine shearing foree and bending moment obtain reition et oo Tetit

[V as aand

TN,
]

St oo SHbdn Howy lx;)‘-'i.“'u!:“u;';) DO e sugpne
\steel wire ol rading Tmm and length 50 em is bentinto a cirenb arc. Calcul

bending moment,
1, b, g Kobtin 50 o, &y Besrie it fen B et moor
e Dy Hoid [eioto dod? (1 1,‘
I'rove that central foree is conservative,
:'";u(tﬂ\d"\n:wvu Vit 00 00 DEMHOSOH.

OR
Prove that foree # = (y* - )i v 2.\:1',/" i a4 conservalive fore.

P (v 2ap ) T Riedgits weo e DEebosod.
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THREE YEAR B.Sc. DEGREE EXAMINATION NOV./DEC. - 2016
CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
PART-II : Physics (WM)

Paper- I : Mechanics and Properties of Matter
(With Mathematics Combination)
(For Supplementary Candidates only)

(Wef. 2015-2016)
Max. Marks :75

Time : 3 Hours

Section - A
Dgreifsn - o

j Answer any five questions.

dFT° 0 (SHoH SSmgodSnen @&o&.
(Marks : 5%3=15)
Define curl of a vector and its physical significance.
%6F 865 AL D FOE (BeSoagdd Bodob.
2. Write the Newton’s laws of motion.
Bogeo® 1 Grgre (@Erabol.

3.  Explain impact parameter.
e HoPand @drRan?

Define elastic and inelastic collisions.
RBYHE HOAD @RBAPIE of S EneSTRD?

[PT.O.
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hn

Define rigid body and angular momentum,

C}‘)ff» ::3:;\2::5) VAT VY ﬁf‘Le(_ﬁ) L{jw uf/ e u(/ Dol

0. Whatis a central force? Give some examples.

..s

Solfbdd eeidreden? GTPBe i,

7. Explain length contraction.

DS Hostso K8y DhBoS0E.

8. Explain ‘Four Vector Form’ concept.

‘ﬁéoé.\)&'é RIS DS5BoBE.

9. a)
b)
10. a)

3-1-116

. SEEET8 FEY Bowogod Soi $pEGerY Toiptn. ¥ 6000 kg a%SKe =L

Section - B
dgeridn - O
Answer all questions.
&) La_’a@_esé BSFrrddoen Fcf:o&
(Marks : 5x12=60)
Derive an equation for the divergence of a vector field.

If 7 = xi + y] + zk 1s a position vector prove that ¢ 7 = (-

if\
)y

29

¢
~
I
o)
(]

ISTaY:S é@s"éééca ‘éﬁbédw% eeg&oéo&. F=xi+y+ 2k “pH SB¥ sad Ux

Q&eB0508.

C

OR

State and prove Gauss’s divergence theorem.
If ¢(xz) = 3x2y—y z* find the grad ¢ at point (1, -2, -1).

o &d aéw awow&h@% Q&rDosod. é(ry’; 3xy—y'z o (1,-2.-1)205%%
58 gradg Deodd EDFEos. _ '
Derive an equation of motion of a system of variable mass. An empty rocket weight
6000 kg and contains 44,000 kg of fuel. The exhaust velocity of gases 1s 1 km sec.
Find the maximum velocity attained by the rocket.

o8¢5 44000 kgo s087e) $0R 650, =0 $0d 1 km/sec s’ ek DRSS
ooBES Frots KOG SKoS?

@



b)

1. w)

b)

b)

b)
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OR

S. Y YV ¥ : B B

sate and prove law of conservation of linear momentum. An electron is accelerated
by a potential difference of 20 volts. What is its momentum?

& N & LR TP -

t@m) (RN Dy DabEed) 8D NrhoSol. &8 dolged 20 Sepe FBYHE
B0 3 By Mol we (i Bvos?

Obtain the relation between angular momentum and torque. Calculate the angular

momentum of the earth rotating about its axis (Mass of the earth =6 x 10* kg and its

mean radius is 6.4 x 10° m)

s @5\653{wb§ S8k B Syrie Bowoe) Teetgob. dirad &5 (g5ea0 cs‘jsc"fbé)é

(5% ey S0, (¢ Gt 5oe8 =6 x 107 kg Sk Tgego = 6.4x107m.)
OR

a gyroscope. A fly wheel of mass 50 kg and diameter 20 cm

Explain the working of
y 18 in 5 seconds.

revolves about an axle. Its frequency of revolution is increased b
Calculate the torque applied.
o 20 cm TR Ko

AERND $0Ta DerREuRy dtosol. 50 kg B8 S
Koo SEo Gy (e RN 5 2EHe weos’ 188 WOAS AP SOV
rHR SO
Obtain equation of motion of a particle under central force.
FolBcd wwo Sdorr B KD B EBe) Totyol.

OR
Give an account on Geostationary and Geosynchronous satellites.

s aSEe DO g HHRB 17g) A

State the postulates of special theory of relativity and deduce Lorentz transformation

equation.

(S8gs g degod Srrossoih 80 a8 Hob o808 &
OR

0B HIEGEFeD TRk

Derive mass-energy equation E=mc’.
@ K80 E=mcd aemBosod.

(B&oe8 - 23
+4++
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12

6.

8.

9.

3-1-116

Define scalar and vector fields. Give one example for each.

obe §Esn, ¥Be GSKmesh JE5I0ID. Q&%) 08 ¥ STrErnISY

Explain cure of a vector field.

5B SE DS00HI.

Distinguish between elastic and inelastic collisions.
28 R 5B @B RS oDrSine ik TR (@eaini.
Write a note on impact parameter.

S Hoe& HBo) DSBoD.

Explain about precession of the equinoxes.
DD 5@0’26(3683&’1)(6) DHB0YRW.

Discuss types of bending.

$0HS*D Sred 56‘)0{5)&’30.

Derive kepler’s third law of planetary motion.
B8 Ko (5 SrBEnd GT)BoH.
Explain length contraction.
By $08°S0R 16000 DBB0oHK.
a)  Stateand prove stoke’s theorem.

FE) 'rbz:goééna’a (0, DEPHOSW.
OR

b)  Explain the gradient of a scalar and divergence of a vector.

[fris the position vector of
b (808 S0 HOY 08 eFiTny o DB,
Fooy 35 568 oowd divr=3 ol HrHv.

a point then show that div r=3.

I 95050 a8 Dot

(h

(1+1+1+1)

3)

(1%4+1%)

)

3

(4+8)

[PT.O.



10.

I1.

-

13.
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[S8)

a)  Explain the motion of arocket and derive and expression for the velocity of a variabie
mass system. (5+7)
.5 ooBl) Gk 8), i DB, &6 |¢’,,,/r/~?, % ,,,, Gy ,/ ALl GalrInn i
GO,
OR
b)  Givethe theory of Rutherford scattering, (12)
6756 é(z é&ééz ?)C};Ov‘ﬁé))éﬁ) 56 0,
a)  Derive an expression for the precession of a symmetrical top. (12)
w8 G oo g, G6k6m Bhoh Emil Hinttuty, tm fuisi.
OR
b)  Explain the working of a gyroscope and its applications. (5+2+5)
The speed of a particle of mass 20 kg. that is moving along a circle of radius 1.5 m
increases at the rate of 0.5 m/sec for every second. Find the torque acting on it.

L O S LSS S (s Lo Lo

(02t @E‘S"f’ﬁ&é) ) B T AerSinds bchn el elhdliGlinsis TPl

1.5m %ﬁ"éfm ‘e 58 "366,3?2 5855 20 kg (G52 Mo 28 5852 G, B
58 D85S 0.5 misec b )5 BolbbiGf. Ty 50 T, el o
a)  Definc the thice elastic module. Desive the relation between them (12)
/fgé’d Sgéé ?’gmosébu Lrlodd) S6 Do S5m. 6 &ty Bomoty, T t,‘:',’,‘,
< OR
b)  Statekepler’s laws of planetary mozion. Prove the first law. (12)
/ég“gé' (565598 Srlgeol (Erdinin. S0t %8 SAGENT DlFeoihds.

Describe the arrangement of the apparatus in the Michelson-Morley experiment with

a)
a sketch. Derive and expression for the fringe shift. (12)
DP)R-3 78 (G of06° &588m0 Gng) oHbE DEBoBol - =75
GE30 S0508.
OR .
b)  Derive lorentz transformation equ‘pzions. (12)
oBot§ Erarodd Hingered Gar Bodin,

S

\
~
N
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PTHRIE VISATC B Se DGR (CHOS) EXAMINATION — OCTOBERNOVEEM R 2014

Thne

i),

FERST S EMIEGS'T ]/
e Physies (With Mathematicos)
Paper | MIECHANICS AND PROPERTTES O MATT1IR

(or the students admitted during 201516 Only)

S houes Mus, Mavks 75
SIGCTION - A
WD )
Angwer nny IV questions, 1Sach questions carries 3 marks,
DA @y [I;')i;jlc')*f) ESNBRI AR RRIUSNTALISY S S P SO RIS T 1{Lf)1f;)’i) 3 :.’))"rﬁ')bu)).
(Marvks b« 3 1h)
loxplain the physical significance of gradient of a sealar [.i(flll, (3)

00

¥l a3, (AGASI0M ) HOEHHI G35, 4G (N0 DHBODINN,

[oxplnin the divergence and curl of o veetor ficld with examples, (1% 4+ 1%)

Aoty 4 4 ap ety . 2 s 0o b e 20 e .
et 00109550108 Homofon) e9:9R08Ea:50) D005 lfr{gw.,) OB Govrteand” HiHBoHhInH.
Define impael parameter and seallering cross seetion, (1% 4 1)

eyt 507N 5005 HBEIED DG 5H0I NEFHOBIDN.

Derive the relation between torque and angular momentum, (3)

L4

o 0o o v 2 shims sizaeoo Y
ey, 009 6ot [ATTSSIUTRRLD g DOWOEIDNID GO0 DIN.

' ! Lp ] ) 941
What is o pyroscope? Write its applications, (241)

(i ” o s w4 ,,’—" I 07y pn AT W, oyu 4 rf
[Bhies 50 (A6"09,0)) GONWM? O 09700HEROM) (205D,

) - . (33)
ISxplain the types of heams, )

(S0CEANE"D 65005y HDiHBOBHIN.

(P.1.0.]



t.

10.

. . , 2+1
What ave contral forces and give two examples, ( )

SO[AD perey BRI Both drrirste Q0.

lixplain time dilation. : 3)

5°0) 1()\3@ MB0O HDH00KHY.

(a)

(b)

()

(b)

SECTION - B
NES-D
Answer IFIVIC questions. Each questions carries 12 marks.
DY (IHOW DI EPRRN FEA0H0. 98 (D)5 12 0e8o),00.

(Marks : 5 x 12 = 60)

State and prove Gauss divergence theorem. : : (3+9)
ARSEUNITOT NErowrR) BID AEITVOBO.

Qr
State and prove Stoke’s theorem. . B3+9)

RIE) DEROBBVRY R, DEIV0DH.

(i) Derive an (}xl)i'(rssi011 for the velocity at a rocket at any instant of time moving
under gravitational field. _ (7)
HOKBEHOS” BN af 078e5 HAAN0S" PR F0H0S® BEETITDE $ELESE0
OPRIENI0.

(i)  An empty rockgt weighs 5000 kg and contain 40,000 kg of fuel. The exhaust
velocity of the fuel is 2kg/sec. Find the maximum velocity gained by the
rocket. (log10 = 2.3 and log103 = 0.477). . (5)
28 grd 07365 2803 5000 kg BRS® 40,000 kg R0E¥0 408, A0S0 B0%6r%
DeGBen 2kg/see. 5078 @OKOHD KB Iy B),0%050 (logel0 = 2.3 558c%w
logiod = 0.477).

Or
Derive the Rutherford’s scattering formula, (12)

85656335 9683er S0 BR GemBodai.

2
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[w—

fo—y

&)

\‘D ..!

(b)

(a)

(b)

1) Derive an expression for the angular velocity of the precessio

3

Derive . = . ¢
e Eule equations for rigid body rotaring about a fixed point. (12)

et

PUTUT

;Q ., e

28 DEDOEI[ K181y REAKIE Y 5 & X oe R ‘

Q OR0Q0Y) Dty S&HBY,) 2.5 BHE :i )50 A 65 JDEGeTIN & ';)50“0';{'
(3] o <

Or
(1) What is symmetric top precession? (3)

39 Forbo HEHde0 SRTA?

sion of a symmetric

top. )
2.5 09 FonBY HBY e Sl 3ol SRESnRNR 520803080,
(1)  Define the three elastic modull. 3)
S 0% W 2852
2 Qos 83‘053&)&) 2003083 SD0D.
(i) Derive the relation between them. 9
a 7 i "
RN ;ﬁ)@g’{s [o20T°R) TTRALAD.
R [=8 QD
Or
3+9)

State and prove Kepler's laws of planetary motion.

336 (frH0R SrEre o°D &5 B0o0R0

State the basic postulates of Einstein's special theory of relativity and derive the
= 9
equation L = mc”

S

ShEs drroso &xpden Baydn £ = me® RDEBEIR0 TrLA.

(‘,111

33515 €

Derive Lorentz transformation equations. (12)

o‘ooeb Kraross 3H0E8eroRy £53800020.

3 3-1-116
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PHREE YREAR B Se. DRGRER (CBCS) EXAMINATION — OCTOBER/NOVEMBER 2018

T

O,

FIRST SEMESTER
Pavt 11— Physics (With Mathematics)
Paper 1 — MECHANICS AND PROPERTIES OF MATTER
(For the students admitted during 2015-16 Only)

S hours Max. Marks: 75
SECTION - A
T\);‘;“(S—’“tb
Answoer any FIVE questions. Bach questions carries 8 arks.
N .
A0 DAY PHOK DRTHTRIAVL TR0, DY IFHD 3 080, e0.
(Marks : § x 3= 1d)

lxplain the physical significance of gradient of a sealar field. (3)

AN

RN alo), (RAQLOD) FHELAL ALY FTOF DRVPFVRL D oo,

Fxplain the divergence and curl of a vector field with examples. (1% + 1%)

U .
‘0~3S“f§[‘im\m 0 NONOHODN BRIATEIRL B xow NB0Y &IOS Andowonw.

Define impact parameter and seattering cross section, (1% + 1%)

©PRN JORAD Ry DEFVe ROEFHINVR DFFIOROR.

Derive the relation between torque and angular momentum, 3)
t (

wm oo §'SHan @:a;ﬁh?gx\w :‘\mé DOROFERVR GBHOEORWRW,

What is a gyvroscope? Write its applications, : 2+ 1)
[BR0es BER (@8%9,W) LRATHN? DR BRVDBIPORY [R°AN,

oxplain the types of beams, (3)

B " AN R
SO B5TOR DGR,

P.T.0]



8.

S

10.

What are central f

S0 B0% averen OITRIN? Doy &

Explain time dilation,

9 4
orees and give two examples. @+ 1)

[ARSTeT9) K):ﬁné.

3)

S0 éq)g 180 9380855,

(a)

(b)

(a)

(b)

%tate and prove Gauss divergence theorem.

SECTION - B
VEL-D
Answer TIVE questions. Each questions éarries 12 marks.
DAY (DFOK FTATEEHH0e) a0, 98 %X 12 Hreteo.
(Marks : 5 x 12 = 60)

(3+9)

R ©9558es & NTROT™R) BER AETN0B0G.

Qr

State and prove Stoke’s theorem., . (3+9)

R ?ocgoémm B°R, AETD0WH8.

(1) Derive an expression for the velocity at a rocket at any instant of time moving
under gravitational field. - ‘ )
HOSBEB0S” $OR) a8 o98eS &moﬁooeS‘s AP SRAHOS® BEEIDTOE HMESE0
T80,

(i) An empty locket welghs 5000 kg and contain 40,000 kg of fuel. The exhaust
velocity of the fuel is 2kg/sec. Find the maximum .velocity gained by the
rocket. (logl0 = 2.3 and log103 = 0.477). 4 (5)
28 grd 0985 2.0 5000 kg BOS° 40,000 kg 5oiH0 &08. 208550 w05t
Devdtden 2kg/sec. e3098¢5 0K KB%BWK)& B8),0%050 (loge10 = 2.3 2080850
logi03 = 0.477). '

Or
Derive the Rutherford’s scattering formula. | (12)

65"658;’)6@ $5BEHe8 AU H00R0 GERHE0DHW.

o
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13.

(b)

(b)

(b)

(i) Devive an expression for the angular velocily of the prece

R TS B S LR TR

n(‘['l\'(\ l"tlll(‘l".\{ o (12)

qQuations for vigid body rotating about o [1xed pomt.

o W 0
B8 OO, e , , " s a0 S0
&5 HOR) Wty BN tl i DN (533000 DGO caertytdo DG,
< [ o

Or
1) hat is av ; .
( What is symmeotric Lop precession?
AT ’ Wi A " ¥ 1o
Q t(-_)\.\) 0 Oh(\ja '\?)Of\?\)bt.ﬁ(.) (“){\)(\"1\).,).)?

ggion of a symmetric
Lop. ©)

LTI O R RV . b B . b A . — L A
2 QU 0N S Eias Hreod SHEEENNR G 0B0HID.

(1) Define the three elastic moduli. (3)
0, Ny D, AL v o Qo o
8O QY worosBe ROVATATOIN IR TeISHIOTAD
. . . (
(1) Derive the relation between them, 9)
°6d DO DoOH Y SR ARIIRANE
Or
State and prove Kepler’s laws of planctary motion. 3+9

BB (HDPHR0R RIv@ren 0% GE)B0HIND.

State the basic postulates of Kinstein’s special theory of relativity and derive the

: ' 2 -
equation Iy = me”. (h+17)

335235 Léééé A VED® ?\)g;oéﬁo daden Begydo f = me” BOEBEaNR 0.
Or

Derive Lorentz transformation equations. (12)

©B0L B°D0BY IETETON GEHBOBR.

3 3-1-116
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THREE YEAR B.Sc. DEGREE EXAMINATION, NOV/DEC. 2016
CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
PART-I1 : PHYSICS
PAPER -1 : MECHANICS AND PROPERTIES OF MATTER
(For Mathematics Combinations)

‘Revised Sy. vef. 2016-2017, i
(Revised Syllabus w.e.f. ) Max. Matks : 75

Tune 3 Hours
SECTION-A (Essay Type) i .
Answer ALL questions (35X 10 =50) |

) 03 VL DIAFPEPILVL FPOEVDW.

I.a)  State and prove curl of Vector field. Discuss its physical interpretation.
p ph)

ROT EZLY $§ A BID AGrdotoEw. A FPAS FANWFB SONoSAD.
OR
b)  Define line, surface and volume integrals. State and prove Stokes theorem.
3DaD, 90 DA WIVOIFEH DIAFEVSIDOR QBgDocdID. F'Ey dgresan 89D
REFPD AW,
Define impact parameter and scattering cross section. Explain Rutherford scattering of

S8}
R )
~—

alpha particle.
29 DDTS DTN VB3 DAZDE mqs5§da»vm :)cssaom:m. 8Py SR 36 I{Jé DBEDR

QAP DB,
OR

b)  Explain two dimensional elastic collision of a system.
B§OR B0 AGDAADL WDVFSAN DDBOLAD.

Deduce Euler equation. Describe the precession of top.

3 a)
ArOd DAEGRAVRD ST QOBD. 0T XDRYGRBVA DBdBoA0,
OR
b)  Explain the classification the beams. Describe shearing force and bending moment.

Gociane AlnE); ISPV DBBoAD. DATED LA 26A% D03 PRSIV

DSBocia.
[P.T.0.]

3-1-116R



Al Hbale ard e | et lawa ol imohion

: ¢ 4 , B9 W . Y
adae a1 eamad cS0IT Latiidedad

it

o i (101" Vi

{ Yarved 4l ary Satell)
P e the et e Gl cenbral farees [iegeribe e pnotion of QeostatlGnary Satellite.
) (o od g sl o ‘o R "’u"'_f.‘{\:“"‘
daci L (0] Annd 3o 'm‘.‘ 16930 ‘,",\,m! AT ISR 006900600 el 306333
W [

l B e e poabilates ol spectal eory ol relativity, Obtain Lorentz transformation
IR 6
- 14 7'_." PR aRRs < oy~
cpdE e Tl U PR R S 15 [ LIATAT ATy (be13Eg)eid, eriol) G050 £2e0IEGET A
=Eh [} o =
A TARERRN]
LR}

Ot

W Obldn the expresston fol addition of velocities, Deduce the relation hetween mass and

vy
g @ . a4 24,
Dodod GEnE0maM 00k, Gadoed - W Dokl PADISEEIININ)

A
0

(SRR PERY
(A

SECTION-B
Answer any Three questions (5 X3=15)

D e D)ol £ P60 (JP0332:3),

i, Deline sealar field. Discuss its physical significance
earh G .".)(‘N)(‘:)(nf)._)ﬁ.\). OO ey s @“:DJQJS&EGJ zi)@xoz:u:»o.
N r.

7 State and prove the law ol conservation of angular momentum
Fdan (et Db A 380 DO,
N, Prove that the conservative force is o negative gradient of potential energy.
ey e ATIRRRINRIATE #d) alod) e DD DBI70CH,
" W - il

) Lxplain the types of Toad,
G0 \_x_h_n‘,h e Dad0athed,

1, Lxpluin length contraction,
o g n - & N " 4
Dty atng Doldan DaHBeEAN,

Contd......3
Jel=110R




12.

15

SECTION-C
Answer any Two questions (5X2=10)
DT Boch D) VL DITEPAODIR FP050H.

Explain motion of a rocket.
07365 TR0 DHBotED.

Write a note on gyroscope motion.
- B0 903 BONRN P VDL FPOVDW.

Describe Global Positioning System.
T FAoh DFIRR DI, .

The mean distance of mars from sun is 1.524 times the distance of the earth from the sun.
Compute the period of revolution of mars around sun.

R0 Rods e0rrELAS Dt Grdo AN Xod FA GrTdS 1.524 3t eond
BOITELIED WY ot 887 w987 S0 od.

Find the velocity with which a body has to move so that its mass will be double to its rest
mass.

28 DY SOTLIND T Q50°3, 9 g IFod SITIS Tododen oD wrd
" Do S&’ngo&.
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